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Abstract: This paper attempts a simple proof for the Fermat’s Last Theorem.

1.The fermat’s last theorem

a'+b"#c”
(a, b, ¢, nis natural number)
(a b, c>0)(n>2)

2.Simple proof

1)

Vi-x"=(x+1)"+(x+2)" 4y —x"—(x+1)" ... —(y—1)"

(y>x)

=(x+1)"+(x+1)+1)"+((y=1)+1)"—x"—(x+1)"..—(y—1)"

=(x"+ax " VA1 (x+ 1)+ n(x+ 1)V 1) (= 1)+ n(y—1)"+..+17)
—x"—(x+1)"..—(y=1)"

=(ax" Y 41+ (n(x+1)" V1) (a(y—1)"+..+17)

(The equation terms are pascals triangular numbers)
2)
Cn_bn_anz(cn_ bn)_(an_on)

=(n((c=1)"". +5" N+ +(c=D))
—(n((a=1)"Y. . +0" ")+ +(a=0)) by 1)

If ¢"=0"—a"=0 then
(17(( C—l)(n_l)...+b(n_1))+...+(C—b))—(n((a_1)(17—1).”_'_0(17—1))_'_-”+(a_O)):O
al(e=1)"Y + 5" V)= n((a=1)"Y.. +0= 1)

+n((c=1)...+b)—n((a—1)...+0)
=b+a—c



3)

when m is large number,
a(((me=1)"" . +(mb)" N=((ma-1)""..+0""Y))

AL (o)t b)) ~((ma— 1) s 0 ).
>n(((mc—1)...+mb)—((ma—1)...+0))

is established.

4)
If c"=b"+a" then (mc)"'=(mb)"+(ma)"

SO,

mb+ ma— mc
=n((mc—1)(”71)...+(mb)(”’1))_n((ma_1)(17*1).”4_0(1771))
+n((mc—1)..+mb)—n((ma-1)...+0)

if n=2 then

mb+ma—mc=n((mc—1)..+mb)—n((ma—1)...+0)
(mc—1)mc (mb-1)mb (ma—1)ma

mb+ma—mc=n( — - )

2 2 2
and, if H°+a°—c*=0 then mb+ma—mc =

g(—mc+mb+ma)

if n>2 then

mb+ma—mec=n((mc—1)"""..+(mb)" ) =n((ma-1)"""...+0"")
wt+n((me=1)..+mb)—n ((ma—l)...+0)(expression 1)

mb+ma—mc=n((mc—1)""Y . +(mb)" V) =n((ma-1)""Y...+0"")
(mc—1)mc (mb—1)mb _(ma—l)ma)
2 2 2

+n(

and, if (mb)"+(ma)"—(mc)"=0 then (mb)*+(ma)’—(mc ) #0— mb+ma—mc = (rest)+
%(((mc)z—mc)—((mb)Z—mb)—((ma)g—ma))i(rest)+%(
and, because of (mb )’ +(ma ) —(mc)*#0, If m is large number then mb+ ma—mec <<

(e~ me)~((mb f~ mb) ~((ma)f ~ ma))

and, mb+ ma—mc << (rest) +—(((mc)2 c)—((mb)*—mb)—((ma)’—ma)) by 3)

—mc+mb+ma)

So, expression 1 is contradict. So, (mc)"#(mb)"+(ma)"” and c"# b"+a"



